Answers : (5) History : Delhi sultanate & Mughal Empire

1)  North Indian powers were defeated at the hands of invaders from Central Asia because :
a) Indian soldiers could not hope to get plunder
b) There was no unity among Indian soldiers due to casteism
c¢) Central Asian soldiers had more modern weapons.
d) The invading army was led by slaves.
Answer Options :
1) (@and(b)only  2)(a), (b) and (c) 3) (a) and (d) 4) (a), (b), (¢), (d)

1-3 2-3 3-2 4-3 5-2 6-4 7-4 8-1 9-2 10-2

11-4 12-2 13-1 14-3 15-1 16-1 17-2 18-4 19-4 20-3

21-3 22-1 23-3 24-2 25-3 26-4 27-4 28-2 29-3 30-4

31-1 32-4 33-2 34-4 35-3 36-3 37-2 38-1 39-x 40-1

41-2 42-1 43-3 44-2 45-1 46-2 47-3 48-3 49-3 50-2




